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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 3rd Semester Examination, 2021  

GE2-P1-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 

 The question paper contains A and B. 
The candidates are required to answer any one from two Courses. 

Candidates should mention it clearly on the Answer Book. 

 A 
usikyh Hkk’kkdks ifjp;kRed v/;;u 

1. rydk dquS pkj iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) Hkk’kk HkUukys ds cqf>UN \ ifjHkk’kk fnuqgksl~A 

([k) fyih Hkusdks ds gks \ usikyh Hkk’kk dqu fyihek ysf[kUN \  

(x) rRle j rn~Hko “kCn HkUukys ds cqf>UN \  

(?k) o.kZ Hkusdks ds gks \ usikyh Hkk’kkek o.kZ dfr izdkjdk Nu~ \  

(³) mnkgj.k lfgr loZukedks ifjHkk’kk ys[uqgksl~A  

(p) “kCn fuekZ.k izfØ;k Hkusdks ds gks \  

   

2. rydk dquS pkj fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) usikyh o.kZ j o.kZdk izdkjg: 

([k) usikyh Hkk’kkdk “kCn j “kCndk izdkjg:  

(x) vkxUrqd “kCndks ifjp;  

(?k) usikyh Hkk’kkdk okD; j okD;dk izdkjg:  

(³) uke j ukedk izdkjg:  
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3. rydk dquS nqbZ iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) *Hkk’kkdks izÑfr j fo”ks’krk*-”kh’kZdek ,mVk fucU/k ys[uqgksl~A 

([k) usikyh Hkk’kkdks mRifÙk j fodklckjs ifjppkZ xuZqgksl~A  

(x) usikyh Hkk’kkdks dkjd O;oLFkk fo’k;ek foospuk xuZqgksl~A  
  

 B 
usikyh lkfgR;dks bfrgkl 

1. rydk iz”ug:dk mÙkj ys[uqgksl~A 3×4 = 12

(d) Hkfä dfork Hkusdks ds gks \ Hkfä /kkjkdk rhutuk usikyh dfog:dks uke ys[uqgksl~A 

([k) ifgyks vk/kqfud usikyh dFkk dqu gks \ ;ldk dFkkdkj dks gqu~ \  

(x) *dYiuk* dqu fo/kkdks jpuk gks \ ;ldk jpukdkj dks gqu~ \  

(?k) usikyh lkfgR;ek ifgyks x| dfo dlykbZ HkkfuUN \ mudks ,mVk dforkdks uke 
ys[uqgksl~A 

 

   

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) ohj/kkjkdk usikyh dfork 

([k) fuxZq.k dfork j fuxZq.k usikyh dfog:  

(x) ek/;feddkyhu usikyh dFkk  

(?k) vk/kqfud usikyh fucU/kdk izof̀Ùk  

(³) vk/kqfud usikyh miU;klA  

   
3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) usikyh dforkdk fofHkUu /kkjkg:dks fodklckjs ifjppkZ xuZqgksl~A 

([k) usikyh dFkkdks fodkl ijEijkckjs ,mVk ys[k ys[uqgksl~A  

(x) usikyh ukVddk fofo/k izof̀Ùkg:ckjs ppkZ xuZqgksl~A  

(?k) *usikyh lkfgR;dks bfrgkl* fo’k;ek laf{kIr ys[k ys[uqgksl~A  
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